TOPAS CATALOG

Order code:

{XXX - XXX - xxx

Topas

Size and type of WWTP

According to the catalog

Execution of the treatment plant

TXXX - 0XX - XXX Standard design

TXXX - FXX - XXX Sand filter version

TXXX - X0X - XXX Standard design

TXXX - XWX - XXX Swedish design

TXXX - XNX - XXX Norwegian design

TXXX - XFX - XXX French design

TXXX - XX1 - XXX Standard design

TXXX - XX2 - XXX Long version

TXXX - XX3 - XXX Low version

TXXX - XXD - XXX Duo

TXXX - XXB - XXX With drainage box

TXXX - XXS8 - XXX With enlarged sludge tank

Optional accessories

TXXX -XXX - 000 No accessories
Example of order code: TXXX XXX -100 | GSM
TXXX -XXX - 010 Chemistry dispenser
TO050 - FOS - 1 1 TXXX -XXX - 001 UV lamp
Topas
50 EO

With sand filter

Standard version

With enlarged sludge tank

With GSM

Without chemical dosing

—> With UV lamp

TOPAS WWTPs (with the exception of TOPAS R) have an accumulation
tank at the inlet which also serves to pump sewage. This makes it possible
to control the inflow of waste water only when installing the WWTP in the
range of depths according to the dimensions in the drawings.



TOPAS 5 EO

TO5R - 001 - xxx
EO 1-5: Q= 0,0 - 0,75m%/d; 0,06kW: 230V

TO5S - 001 - xxx
EO 1-5: Q= 0,0 - 0,75m%/d: 0,06kW: 230V
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TOPAS 8 EO

TO8R - 001 - xxx
EO 2-8: Q= 0,0 - 1,2m%/d; 0,08kW: 230V

TO08S - 001 - xxx
EO 2-8: Q= 0,0 - 1,2m%d: 0,08kW: 230V
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T0O07 - 001 - xxx
EO 2-7: Q= 0,0 - 1,01m3/d: 0,08kW: 230V

TOPAS 7 EO
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T015 - 001 - xxx
EO 5-15: Q= 0,0 - 2,25m%/d: 0,15kW: 230V

TOPAS 15 EO
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2370

TOPAS 50 EO

TO050 - 001 - xxx
EO 13-50; Q= 0,0 - 7,5m3%d: 0,6kW: 230V
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TOPAS 100 EO
T100 - 001 - xxx

EO 20-100; Q=1,5- 1 5m3/d; 0,75kW; 400V
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TOPAS 200 EO
T200 - 001 - xxx

EO 40-200; Q= 3 - 30m®/d; 2,3kW; 400V
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T300 - 001 -

XXX

TOPAS 300 EO

EO 60-300; Q= 4,5 - 45m®/d; 3,0kW; 400V
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TOPAS 400 EO

T400 - 001 - xxx

EO 80-400; Q= 6 - 60m°/d; 3,5kW: 400V
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T500 - 001 - xxx
EO 100-500; Q= 7,5 - 75m°/d: 4,5kW: 400V

TOPAS 500 EO
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